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GUIDELINES'FOR FILLING UP QUESTION CUM ANSWER BO}OKLET

e Candidates will be provided with a Question cum Answer Booklet.

e The booklet contains 25 multiple choice questions, each carrying 2 marks. Candidate
will attempt 20 questions from the following (MCQ).

e Candidates must fill up his/her Roll Number in space provided.
e Do not make any stray mark/s on the Answer Booklet.

® At the end of the examination please return the Answer Booklet to the Invigilator.
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Answer any twenty from the following que%tlons [Put tick (+/) mark besude given box
on the right answer] : : -2 2x20=40
Wﬁm@@@%%ﬁ@mm@(ﬂ%ﬁﬁ%w%(d)%ﬁw |
1. The study of interaction between living organisms and their cnv1ronment is called—

%am«uzw@ﬁﬁ@vﬁmwmamwmmwaﬁmmsWam— = ST E—

A) Ecology (?JT@%WKT) D

B) Ecoéystem (AEST) L

0) Ecotone (ZCHIBI) ]

D) Biome (AM) ‘ 4
2. ‘Knock—Knee’,(bending of legs from the knee) syndrome is caused by—

*“ 205 e A & e @ ZaE FRe-—

A) Mercury poisoning (=W 73) [

B) Arsenic poisoning (Sfes 75e) & |

C) Fluoride poisoning (FEARE 72°) (]

D) Lead poisoning (3 Tf;’fﬁ ) El
3. The Hemis Natidnal Park in Ladakh is famous f0r~v

smICA P G Ewie e —

A)  Snow-leopard (I=-be &) ]

B) Crocodile (Faa &) ]

C) Lion (Fikezg &) B

D) Tiger (99 &) S
4. . Light-loving plants are known as—

S| oW 0 G SEar =T T—

A) Xerophytes ((STARFED) L

B) Heliophytes (@f1e%i25) | ]

C) Lithophytes (FTai2b) ]

D) Halophytes (FITEIRFIRD) ]
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A major component of gobar gas is—
e ST @& 51 AW 2

A) Ammonia (siefer)

B) Methane. (TStea=)

C) thane (Zra=)

0ooo

D) Butane (e

Environmental Protection Act was enacted in India in—
oS AR w' e B —

A) 1986 (S»vY AE)

" B) 1984 (s5v8 )

C) 1994 (S5»8 )

0000

D) 1987 (ssv4 )

The Logo of World wildlife Fund is—
S SR TR TS AT T —
A) Red Panda (T “T)

B) Giant Panda (SIS A

C) Polar Bear (&% ©FF)

ooodd

D) Tiger ()

“Right to clean environment” is guaranteed in Indian Constitution by—
ST R @ AR s oA SR RS ' O T —

A) Article 14 (4Rl >8) e

B) Article 19 (< $®)

C) Article 21 (411 23)

AppEag

D) Article 25 (4141 2¢)
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(51
Bhopal gas tragedy was caused due to leakage of—
AT 91 YOI & W (@ IR o o ge—

A)  Methyl iso-cyanate (MIC) (RIxiZet SIi3GHI-1RIGD)
B) Sulphur dioxide (Fi=Terie wizemizs)

- C) Mustard gas (JI55TE i)

D) Methane (St9+)

Who is regarded as the “Father of Green Revolution” in India?
TS T R G R —

A) M. S. Swaminathan (431, @37, FIs)

B) S.Z. Quasim (93, (5. FIBm)

C) V. Kurien (fS. Ffa@=)

D) M. K. Gandhi (4. (. 51)

Who is the author of ‘The Origin of the Species’?
@ ‘w Sffes o1 7 FGer awb a5t 3w e

A)  Helen Caldicott (e Wefew)

B) Arundhati Roy (Wﬁﬁh@[ xR) .

C) Ernst Haeckel (S5 (2=w1)

D) Chairles Darwin (55 TIRCE)

Medha Patkar is associated with—

G AR (I SIS I [ 2

A) Chipko Movement (Bt e )

‘ B) Silent Valley Movement (3¢5 \'oii.i% GITwIeTe)

C) Narmada Bachao Andolan (%5 Rl )]

D) Progressive Indian Film Movement (¢eitafre 3o e CaRT)
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Which one is the vector borne dlsed§e7

A (oF7 S o2

AY ' Malaria (W%zﬁ)

B)  Cholera (szera)

C) Influenza GTrre) |

D) Diphtheria (%"TCQI%NT)

Ramsar Convention s associated with—

IS FeTCT @ R e 3o ,

A)  Wetland conservation (TrTrgf™ sicamsey)

B)  Wildlife protection (TN F3gmmer)

©) Fox est COHSEIV&UOH (3= TR

D) River pollution control (7t e ﬁ?@@f)
What is the full form of PAN?

‘PAN’ *=ifB I 3 o

A)  Peraldehyde nitrate SIEMIEIC Ry HTQHCE‘E)
B) -Pe‘racyteldehyde nitrate (ﬂwﬁﬁﬂﬁwﬁi@ ;@Cﬁﬁ)
C) Peroxyacytyl nitrate ("W@Wﬁﬁﬁa RIEWT)
D)  Peroxyacetic nitrate (ARt DIEWT)]
‘Montreal Protocol’ is ﬁssociafed with—

TG (AR ~am e e

A) - Depletion bf ozone layer (Sre wag o)
B)  Global Warming (R Tzere)

‘C) Climate change (e@rary FaSaT)

D) None of the above (T (D2 77)
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17. Which among the following date is celebrated as World Environment Day?

e o T fe sifirae fret fotia sifere =y

A) 5th April (¢2 @f@sT) R

B) 5th June(ct?@ﬁ) : g7

C) 5th September (€3 GHTR) [

D) 5th December (€2 fGTEa) i

18. Gas molecules are present in atmosphere that absdr,b thermal IR is/are—

argmeTA oAge s =g A IR (el 7R o1 2T

A)  Oxygen (fSice) e

B) Ozone (\ST&¥) il

C) Nitrogen (FI3GETEA) ]

D) Greenhouse gases (ST ymief) &

19. What percent of area in the land should under forest?

FTSToR b S I A TS ?

A) 21% (3%) i L

B) 25% (2¢%)- ]

C) 17% (bé%) ]

D) 33% (99%) ]

20. A mini-hydel project of North Bengal is—

TEIEE AT Y TEA L (T T

A) Teesta (fo) ' Bl
| B)_ Mahananda (S2) [

C) Jaldhaka (&eT0I<e) % o

D) J Toréha (copfh) 3
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- C) Jaldapara (Srewioiet)
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Silviculture is—

PrefesEpR 2 — ,

A) the cultivation of quick growing timbers (%© 5 TeoAW= SN2 5IF)
B) the cultivation of cotton (el 519) '

C) the cultivation of silkworm (<=5 517)

D) None of the above (3237 @3 )

The permissible limit for Arsenic in drinking water as recommended by WHO is;
WHO fuif#re #4181 et SIofarea Sgmeie) Jial 21
A) 0.01 ppm (o.0% fsifstam)

B) 0.05 ppm (0.0¢ f3ifsaw)

C) 0.1 ppm (0.5 fsifstam)

D) 0.5 ppm (o.¢ feffoiam)

Which of the following is not a non-conventional source of energy?
A @D Sfbante e Se e '

A) Wind energy (Ig=f&) -

B) Nuclear energy (2= “T%)

C) Tidal wave ((SIE-Si5 575 =)

D) Solar energy (GTa=if&)

Which sanctuary is famous for one horned Rhinoceros?

5 TSI G (I TSIl RrTe 2

A) Corbett (FA¢35)

B) Gir (fo)

L1 L} ekl

WEREE

0000

D) Kanha (%))
The Earth Summit (1992) was held in—

oooo

I T (5553) TP TfRE—

A) Stockholm, Sweden (5FCRI, J30T)

B) Rio de Janeiro, Brazil (Re f& &=z, aifee)
C) Kyoto, Japan (S, To)

D) Thilsi, Soviet Union (e, Giifewrs $8fwm)
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